45° - 45° - 90° Triangle. !
Moving from
Leg to Hypotenuse:

Hypotenuse = Leg- /2

_ Hypotenuse

2

Leg =

the only number used in a 45-45-90 triangle

BN

30° - 60° - 90° Triangle.

Moving from

ypetEnuseitokey; A Hypotenuse = 2(Short Leg)
£ Short Leg = %(Hypotenuse)
06
X 2
Lon?/;_'eg % Long Leg = /3 (Short Leg)
X

Short Leg = (Long Leg) = /3

X
Short Leg




Moving between the Hypotenuse and Short Leg

Short Leg
X

Long Leg

X3

SOHCAHTOA

A b

C

Leg Opposite 2 B
Hypotenuse

SinB =

Leg Adjacentto / B
Hypotenuse

CosB =

Tans — Leg Opposﬂe /B
Leg Adjacentto /B

Moving between the two legs

Short Leg
X

Long Leg
X3

Given APQR, where 7/ Q is the right angle.

If SinP= %

4o
CosP= ——
0S Y
o Mo
SinR= _Lf(
TanP=

7

, find the following as fractions:

SOH CARTO A 1 &
TanR= jc% y )

CosR = 2“} ,? ;[O Q

use pythagorean theorem to
find this side:

}(Ll—q«?- —_'_L\:\:-L
X —_m
Y= HO



Find the TanA in each triangle. SOHCAHTOA Find the value of x to the nearest hundredth. OHCAHTOA

A o —

e A0~ 5|
this angle is the
complement of 51.

o X
<Sin 95 = 13y

\

= 26.04

this is reasonble because a leg must be less than
the hypotenuse (36.04 < 44)

37 ADT

Find the value of x to the nearest hundredth. SO CAH OA Find the value of x to the nearest hundredth. SOHCAH OA

28°
=
$ 99,%,&9;%2 = '\‘1— 41°
15 S
N ) 4 32
X
W= l€.9n A O
this i ble by he h 2 =
rie BT e A B (108 L 15) ldn o= 32 o3
- x = 5G. £

this is reasonable because x is opposite the bigger angle and,
therefore, it should be the bigger leg (36.81 > 32).




Find the value of x to the nearest hundredth. SOHOA Find the value of x to the nearest hundredth. SOHCAH OA

. 29°A - 7},\»,1'* >8]
25.37 ) 'L’Lﬁ% /
(Og >< :22— sing Pythagorean qu = %
37 7 tat A
H this side. X :an" (Zl/
COS“I g > - 3? 39° *“‘S\S"/A & his angle must >< 2 73)
37 # be the - L7’ 7 ?7 y

complement Since angle x is opposite the bigger leg it

tox. must be the bigger angle which means it
this is reasonable because x is opposite the smaller must be bigger than 45°.

leg and, therefore, should be the smaller angle (38.39 < 51.61)

Legally a wheelchair ramp can't exceed an incline of 5°. The door to a
building is 3 feet above the level of the parking lot. How long of a board
is need for the ramp if the angle it makes with the parking lot is 5°?

Round to the nearest tenth. AHTOA




